
SAP ABAP table T680VL {Condition: Tree Control: Tree Variants}

T680VL

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KVARIANT [CHAR (12)]

KOLNR [NUMC (2)]

KNODEID [NUMC (3)]

T680N

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KNODEID [NUMC (3)]
 T680VL-KNODEID = T680N-KNODEID 0..N

0..N

T680V

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KVARIANT [CHAR (12)]

 T680VL-KVARIANT = T680V-KVARIANT 
0..N

0..N

T681A

KAPPL [CHAR (2)]

 T680VL-KAPPL = T681A-KAPPL 

0..N

0..N

T681V

KVEWE [CHAR (1)]

 T680VL-KVEWE = T681V-KVEWE 

0..N

0..N


